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g F5 % & 524 Tk (FEB) e A% 3925 551 WiHes | REMFEHEFMSE ViR
1 20221 kbt XI TR P 24 95. 293 1 =
2 20221 Lkt 1SS HEIE 24 91. 857 2 7
3 20221 Lkt HRBAR i 24 91.55 3 2
4 20221 [sksksk Fh B 24 90. 902 4 &
5 20221 kbt XI5 A5 JEE 24 90. 782 5 =
6 20221 Ik T Fid HiE 24 90. 288 6 =
7 20221 Lsskstek AT PE 24 90. 181 7 =
8 20221 Lok MRS YEiE 24 88. 958 8 7
9 20221 Lotk T YEiE 24 88. 234 9 2
10 20221 Lokt 1T & 3 Yig 24 87.919 10 =
11 12015 Lsksskok i YEiE 24 86. 763 11 2
12 20221 Liokotk Wik i P 24 85. 994 12 B




20221 Lsksieok R s 16 92. 553 &

20221 13kt A= s 16 92. 327 e 20255 Z=1 [ TIRFEAF H St
20221 Lkt AR AR s 16 91.707 R E 20258 Z5 1| JURFL A H R4
20221 13k E g s 16 91.321 R e 20255 2 1| JURFEAr HH 5t
20221 13k s =L iE 16 89. 76 e 2;255)?;%;@%? ngif
20221 13k T&4h s 16 87. 908 R e 20255 2 1| JURFEAF HH St
20221 1sksksok TRE A i 16 87. 54 FiE 20255 Z= 1 JURFE A H B
20221 Lkt AR HiE 16 86. 191 e 20255 Z=1 [ TIRFEAF H St
20221 135k 3K HiE 15 93. 707 2

20221 Lkotok JE - hili Hi& 15 90. 328 &

20221 1%k X0 = His 15 88.5 2

20221 1kt CPNIE Hig 15 87. 836 2

20221 1tk P HiE 15 87. 549 =

20221 Ttk ek Hi& 15 87. 486 7

20221 koot K Hi& 15 86. 125 s

20211 Lok R B 24 90. 922 &




2 20211 Lkt WRT RIE 24 89. 985 2 B TRANE S 4%

3 20211 13kt Tk s 24 88. 024 3 AR E G

4 20211 13k ik ET iE 24 87. 717 4

5 20211 sk MEL s 24 86. 662 5

6 20211 13k I IHE iE 24 86. 544 6

7 20211 Lokt AR i 24 85. 266 7

8 20211 Itk EZ¥ s 24 84. 839 8

9 20211 Loksox R HiE 24 84. 722 9

10 20211 Tk Ry HhiE 24 84. 007 11

11 20211 Lok K= His 24 82. 575 12

1 20221 Lsekotek kBT E’ﬂ%é’if =R 41 95.975 1 20255 21 TR AF HH RSt
2 20221 Tk FNEIH W%éﬁf &K 41 95. 339 2 R e 20255 Z= 1 JURFE AR H RS
3 20221 1tk ks W%éﬁf K 41 95. 136 3 fr 0025 K17 1 | TR F4 e
4 20221 Lkotk B A EE W%éilf ik 41 93. 763 4 FiE 20255 2 1| JURFE A HH 5t
5 20221 10k TEEY B’ﬁ%ﬁf =R 41 92. 231 5 s 0025525 | [ TR A4 H 1t
6 20221 13k NEHE Fral ol 4ok 41 92. 004 6 R e 20255 2 1| JURFEAr HH St

HH
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7 20221 1sksksok A i g 41 91. 624 7 B E 20258 Z5 1| JURFE A RS
8 20221 Lkstk H TS W@éﬁf ik 41 91. 467 8 FiE 20255 Z=1 [ TIRFEAF H St
9 20221 kksok +¥H B’ﬂ%ﬁf =R 41 91. 244 9 Ry 20255 2 1 TR AL A HH 51
10 20221 1kt FTH b é%é’if ik 41 90. 393 10 FiE 20255 2 1| JURFEAr HH 5t
O e I e s 41 89. 986 1 s 2025 %51 [ TR A5t
12 20221 1%k F B W%éﬁf K 41 89. 217 12 Fi e 20255 2= 1 JURFE A th g
13 | 20221 1w i W%éif e 41 89. 152 13 Ho 20257 7 1| TR 45 st
14 20221 1k g s W%éﬁf ik 41 88. 861 14 FiE 20255 Z=1 [ TIRFEAF H St
15 20221 Lok T W%é’?f =R 41 88. 684 15 Ry 20255 2 1 TR AL A HH 5t
16 20221 13kt B W%é’if R 41 88. 608 16 FiE 20255 2 1| JURFEAr HH 5t
17 20221 1ksksor TG B’féﬁé’if AR 41 87.375 17 Ry 20255 Z= 1| TR AR 43 1 Rl 4%
18 20221 Lsokotk LSS W%éﬁf K 41 87. 263 18 R e 20255 Z= 1 JURFE AR H RS
19 | 20221 1 VEdE W%éﬁf S 41 86. 704 19 prse 20255 751 TR {5 H Hesi
20 20221 1k LB AR E’ﬁ%é’zf ik 41 86. 163 20 FiE 20255 2 1| JURFE A HH 5t
1 20221 1tk SRR s 20 90. 434 1 =

2 20221 1k L fE T ek 20 89. 265 2 &




3 20221 Lsskstek Eli e 20 86. 349 3 &

4 20221 13k 5= At 20 84. 331 4 2

5 20221 13k ik 22 ik Mo 20 84. 257 5 52

6 20221 Ltk ECT ] FhoxE 20 82. 579 6 &

7 20221 Lsskstek A s 20 80.943 7 =

8 20221 13k JE 1 PR 4 20 77.763 8 P HINRENE B 1%
9 20221 1tk J& w18 e 20 76. 744 9 5 B TERA f#
10 20221 1wtk T e 20 76.577 10 & B2l TRANE S 1%
1 20221 sskstek P 2 18 91. 758 1 IS

2 20221 Lsekotsk Ui i1 4 AN 18 89. 455 2 2

3 20221 Lsskstek TUEH 2 18 87.145 3 b

4 20221 13k FRA 2N 18 85. 27 4 % ALTTRA Jeb

5 20221 Lsskstok kP 2 18 84.984 5 =

6 20221 1345 LR Lok 18 83.016 6 =

7 20221 Lsskstek Ktk 2 18 82.833 7 =

8 20221 Ltk BRIETT i 18 82. 798 8 &




9 20211 Lkt - 3, B kg 18 81. 909 9 =
1 20211 Lsokstex kit R 25 91. 186 1 &
2 20221 Lsekskek Tk e 25 90. 894 2 =
3 20221 Ikt FHRH b 25 88. 699 3 &
4 20221 Lsekstek N 2 25 88. 662 4 =
5 20221 wkokeok K% e 25 88. 345 5 b
6 20221 1otk I 8 7§ % 25 87. 161 6 e 2025FFH 11145
7 20221 Lkt TN B Hhs 25 86. 986 7 =
8 20221 Tstkotok XIS =S 25 84. 737 8 2
9 20221 Lwkokeok =17 R 25 84. 59 9 =
10 20221 Tkt BT V2 25 84. 039 10 =
11 20221 Lsokotk fR izt e 25 84. 028 11 &
12 20221 Tkt ik V2 25 83. 989 12 =
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